GI'BOY BO «Kasanckuii rocyjapeTeeHHLIH SHEPreTHYECKHH YHHBEPCHTET

Kadenpa « HaocTpanuie S3biKH»

Kontponshas pabora Ne _1__

Bapuaut Ne 1

no aucismnnuae « HHocTpanAbii M3LIK» (AHTTHACKHIR)

Brinonuun: buxrumepos JLH.
Crynent __1_ kypea
I'pynna__ 3PCO-1-24
Iup ( Ne 3aver. kuaKkn) 3241081

Iognmce: B
INpenoaasatens: [ nnasxesa 3.

OueHka:

HNata:

IMoanHck:

Kazans 2024



Bapuanr 1

Japanue 1. OfpasyiiTe 0 3aNHIINTe BO MHOKECTBEHHOM YHCIE CIEIYIONIHE
cymecTeuTensHbe: shelf, cargo, elf, sky, mistake.
Answer: shelves, cargoes, elves, skies, mistakes

3apanue 2. [lepenHiunTe NpeiioKeHHs, 3anofHAR Npobensl APTHRISME;
a, an, the WK HyIeBBIM.

|. Come to the blackboard and write the Exercise 5.

Z. You have a mistake in the word “correspondence™.

3. We bought ... oranges and ... butter,

4. Are the rooms in your flat tidy?

3apnaume 3 . OGpazyiite M 3aMHIIKTE CPARHHTENRHYIO H MPEBOCXOTHYIO
CTENEeHH NpHiarareisibix: dirty, modern, amusing, much, quickly, changeable,

Answer:

1) Drirty — dirtier — the dirtiest

2) Modern — more modern — the most modern

3) Amusing — more amusing - the most amusing

4) Much — more — the most

5) Quickly — more quickly — the most quickly

6) Changeable — more changeable — the most changeable

3ananne 4. [lepepennte B nepemHuATe NpeAIOKeHHA, 00palEad BHHMaHHE
Ha 0co0eHHOCTH Nepesoa cTeneHed CPABHEHMA NPHIATATENBHEX H HAPEYHi,

|. The thermonuciear reactors absorb more energy than they generate.
Translate: Tepmonaepinie peakTopsi NOrICMAKNT G0abLIIE 3HEPIAA,
YeM FreHepHpYIT

2. The more satisfactory ignition may be ensured, the betier,

Translate: Yem nagexnee obecneynBaoTes IKHIAHKE, TEM Jy4ine

3apnanme 5 . [lepenuinure U nepeseinTe Npennowenns, ofpamas BHHMaHHE
Ha nepeso MecToMMeHHH. [ToqYepKHATE MECTOHMEHHA B AHIITHACKOM H PYCCKOM
MpeATO#HeHHAX.
Model: Give my book to her. — daii mow xanry e,
l. You may help me by translating these articles.
Bal MoeTe NOMOIIE MHE, [TEPEBEIA ITH CTATEH.
2. It tollows that this is not a satisfactory way for preparing it.



Hx sToro cnegyer, 4to 370 He YAOBIETBOPHTENEHLIA criocob MoOAroToBKA.
3. The level density is roughly the same in all the cases,

[lnoTHOCTE YPOBHS NPHMEPHD OIHHAKOBA BO BCEX CITY4YanX.
4. The reaction is similar to that observed by us.

Peakuns aHANOrHYHA TOH, KOTOPYIO HabMOIATH MEL
5. The variable is the same for both methods,

[Nepesennas ogunakora 108 000HX METOL0E,

3ananue 6. [Tepenumnte npeanoxenu. B riasHoM npeanoxeHHd NOT9EpK-
HHTE CKAIYEMOE H OfNpefeNHTe BHIOBDEMEHHYID (GopMy H 3anor rnarona. [Tepese-
JHTE NPeUT0KEHHA HA PYCCKHI A3LIK.

Madel: A new production line has been developed recently by the engi- neers.
— HoBas nposssojcTBeHHas HHAA OLINa HeJABHO paspafoTaHa HHACHE- PaMH,

Has been developed — Present Perfect Passive ot rnarona to develop.

1) The turbine efficiency is adversely affected by a decrease in the pressure
drop through the turbine.
KT TypOHHB 0TpHUATENRHO BIHACT HA YMEHLIIEHHE TEPENaIa
NaBIeHUA B TYpOHHE
Is affected — Present Simple Passive or rnarona affect

2) A group of specialists is studying this problem.
['pynna cneunamucToB H3yyaeT 3Ty npolaemy
Is studying - Present Continuous Active oT riarona give

3) The test will be given at five o'clock this afternoon.
Tect Oyaer npoBeneH CEroiHA B MATH Y4COB JHA
Will be given - Future Simple Passive ot rnarona give

4) Relationship with private sector will play an important role in further life.
CBa3M ¢ 4ACTHRM CEKTOPOM DYIYT HIPaTh BAKHYIO POk B JaTbHERIIEH
AHIHH
Will play — Future Simple Active ot rnarona play

5) These institutions received no funding from government for
teaching and research.
ITH YUPERJIEHHA HE MONYHanH (JHHAHCHPOBAHHA OT NMPABMTENLCTRA
Ha o0yYeHHe H HoCle0BaHHe
Received — Past Simple Activate ot narona receive

i) The gas turbine is being used in such application as electric power genera-
tion.
IN'aaopas TypOHHA HCOOMB3YETCA B TAKHX ODNACTAX NPHMCHCHMH, KAK
IeHEpaLHA JIEKTPOIHEPIHH.



Is being used — Present Continuous Passive oT raarosaa use
73 The substance has changed it molecular structure when exposed to sunshine,

BelmecTro HIMEHHIO CBOK) MONEKYIAPHYIO CTPYETYDY NpH NpH
BOANEHCTEHH CONHEYHOIO CBETA

Has changed — Present Perfect Active
8) The available heat drop affects the number of pressure stages in the
impulse turbine.

Jocrynimi nepenan TeMNEPaTyp BIHACT Ha KOJHYECTBO CTYNeHeH
JNaBneHHs B AMITYILCHOH TypDHHE
Affect — Present Simple Active

3apanme 7. TNepemamute npemnokenns. [loguepksnTe B KEKI0M H3 HHX
MOJATEHBIH TNarol HIH ero skeuBanenT. [lepepeanTe NpeilomeHHs HA PYCCKHI
HILIK,

Model: | had to stay at home yesterday. — Buepa Mue npumaock ocTaThes
OOMA,

I. The expansion of the steam must take place in the fixed nozzle passages,
Pacmupenna napa JoMAHO NPOHCXOIHTE B HENOIBHKHEIX COTIOBEIX
KAHATAX

2. The products of combustion have to be cooled sufficiently before they
enter the superheater tubes.
[TpoayETH ropeHHs A0MKHE GLITH JOCTATOYHO OXIEHKACHE], TTPE#IE YeM OHH
NONaayT B TpyHkl NOIOTPERATENS

3. He wasn't allowed to cross the border.

EMy He paipelnidns nepeceys MPaHHIy

3aganne B. JanHiudTe npeanomeHus B oTpuuaTensHod dopMe W nepese-

IHTE HX.
l. I won't go to cinema tomorrow In the evening.

A He nofiny B KMHO 3a8Tpa
2. Children didn’t watch very interesting cartoons last Friday.

HeTH He CMOTPETH OYeHE HHTepPEeCHEBIe MYNBTOHIBME] B NPOLLTYIO MATHHLY
3. James didn't speak English very well.
J#edmMe He rOBOPHT NMO-AHTTHACKH OYEHB XOPOIIO

3apanne 9. CoctasbTe M nepeseguTe HA PYCCKHHA AIBLIK  NPEANOAEHHEe
H3 CASIYIOWMX CIOR; meaning, in, were, their, statements, similar, those,

3apanne 10. [lepenumnre 0 nepesennTe NPeAIOKEHHS, MOCTABHE TIATOTL B
ckoDKax B HY&KHYH BpeMeHHYIO hopMy, coGMIONas NPABKI0 COTNACOBAHHA BPEMEH.



1. We came and saw that the child (to sleep).
We came and saw that the child was sleeping — Mu npainns # yeszaens, 9to

pedeHOK cnan

2. He said that entirely automatic driving (to be) developed next year,
He said that entirely automatic driving would be developed next year. On
CKa3a1, 4TO NONHOCTRIO ABTOMATHYECKH BoMieHHs OyneT paspaborano r
CHEIyHIeM oLy

3. | knew he (to lose) his mobile.

# 3Han, 4T0 OH NoTEpAn cBOH MOOHMEIN TEnehoH.



